WEA HIGH EFFICIENCY ALUMINIUM MOTORS

RAREHE TECHNICAL SPECIFICATIONS |€2
PR SR LR B O e KAl

=S bt o it BN AT O IR X =
W B iz B HL i HHH R A

RS P 5 T = B o o T u::
S B B B

Output IEC Rated  Full Efficiency Power factor Locked Locked Break- Sound Moment Weight

Frame speed load n % cose rotor rotor down LP of

C;”EX;“ % of full load current torque torque dB(A) Ji(nkegrrtYi]?) (kg)
(rpm) 400v 100 75 50 100 75 50 W TU/Ta Tu/Th

3000 min"'(2poles) 50Hz

W E AstRies (1e2)

Ry =RExZRL BN

THREE PHASE HIGH EFFICIENCY 075 1  80M1 2840 1.78 78.1 78.0 76.7 0.78 0.69 0.57 6.5 3.6 4.0 60  0.00092 9

11 1.5 80M2 2930 2.48 81.0 80.8 79.3 0.79 0.72 0.68 6.6 5.7 3.9 60 0.001 1

TEFC ALUMINUM 15 2 90S 2890 3.00 82.181.8 81.0 0.88 0.83 0.75 6.6 2.1 2.9 60 0.002 14

22 3 90L 2890 4.24 84.2 84.7 83.4 0.89 0.86 0.79 7.0 23 2.9 59 0.003 16

INDUCTION MOTORS 3 4  100L 2915 563 85.4 86.0 85.0 0.90 0.84 0.75 9.6 3.5 4.0 63 0.004 21

4 55 112M 2895 7.52 86.3 87.0 86.0 0.89 0.85 0.78 6.9 2.2 3.0 63 0.013 26

55 7.5 13281 2930 10.2 87.5 87.6 86.0 0.89 0.85 0.77 8.2 2.9 3.5 68 0.023 37

75 10 13282 2930 13.8 88.4 88.8 87.6 0.89 0.87 0.81 8.3 2.3 3.4 68 0.025 41

9.2 12.5 132M 2930 16.7 89.6 89.6 89.1 0.89 0.87 0.81 8.2 2.4 3.4 68 0.035 42

11 15 160M1 2940 19.6 89.9 89.7 88.1 0.90 0.87 0.80 7.9 2.6 3.5 7 0.055 99

; 7 90.7 89.5 0. . ] , : . .064

WERRRIZRRSEIN  RAESERE | SERANSAERSD 165 25 1800 D580 367 1557 600 057 UEG BB% T8 2T 33 € 0015 85

M. BREHRE Bk SMERN  REEETGaMMRETE2. 22 30 180M 2950 381 91.591.289.6 091 088 082 80 24 36 68 0103 113
1500 min™'(4 poles) 50Hz

e 0.55 0.75 80M1 1365 1.41 77.0 76.5 73.3 0.73 0.66 0.52 2.8 2 2.4 46 0.0035 1

33 R T B AR T AR, Bl - K BREA . BT 075 1  80M2 1390 1.81 79.6 78.6 77.4 0.75 0.69 0.56 4.7 2.5 2.7 47 0.004 12

B KRS 11 1.5 90S 1435 253 81.4 81.3 80.2 0.77 0.71 0.59 5.4 o 2.6 49 0.005 15

2 A o N 15 2 90L 1430 3.31 82.8 82.4 81.9 0.79 0.77 0.66 5.4 2.1 2.5 51 0.006 18

-BOIPEERIPSS | FAREEER , BRGET , SITAFH , BUERREA400V , S0Hz, 22 3 100L1 1440 4.65 84.3 84.4 83.2 0.81 0.75 0.64 6.8 3.0 3.2 51 0.007 23

fERFM  RFRE-20°C-40°C , Bk <1000m, 3 4 100L2 1430 6.25 85.5 85.585.0 0.81 0.75 0.65 6.5 2.9 2.9 51 0.009 27

- EfARRBININER<3KW |, =B ABRNIIER>4kW | $205  1C411, 4 55 112M 1445 8.19 87.0 86.8 85.8 0.81 0.75 0.70 7.1 2.7 2.8 55 0.017 31

55 7.5 132S 1460 11.0 87.8 87.6 87.2 0.82 0.77 0.68 7.3 2.4 2.9 55 0.037 45

Lo, MOUNTING ARRANGEMENTS 75 10 132M 1460 14.7 89.0 88.7 88.1 0.83 0.79 0.70 7.5 2.6 2.8 55 0.045 58

Basic type ! ] 9.2 12.5 160M 1460 17.8 90.0 90.0 89.4 0.83 0.80 0.72 7.6 2.5 2.8 55 0.075 50

Types e staction BI85 O A e 11 15 160M 1470 20.7 90.3 90.2 90.0 0.85 0.81 0.73 7.8 2.6 3.1 63  0.105 95

IM B3 IMVS  IMV6 IM 86 IMB7 IM 88 15 20  160L 1470 27.7 91.0 90.7 90.4 0.86 0.82 0.75 7.4 2.5 2.8 63 0.112 110

Inta00d IMIDH.  AM03L  IMdgel.  IMI06L.  IMdO7L 18.5 25 180M 1470 34.0 91.3 91.0 90.9 0.86 0.84 0.78 7.4 2.4 3.0 62 0.166 145

WEA80-180 :ﬂ:ﬂ ‘%’ :ED @: [EH: 22 30 180L 1470 40.2 91.8 91.9 91.2 0.86 0.82 0.72 8.0 2.8 3.4 62 0.186 160
1000 min™(6 poles) 50Hz

MB35 IMVIS  IMV36 . . » 0.37 0.5 80M1 915 1.09 70.9 69.4 68.8 0.69 0.61 0.51 3.8 2.1 2.2 44 0.0021 11

U T s 20 0.55 0.75 80M2 925 1.55 74.1 72.8 68.7 0.69 0.60 0.52 4.4 2.4 2.3 46 0.0032 14

:I:H :ED @: E]: 0.75 1 90S 945 2.03 76.0 75.5 73.8 0.70 0.62 0.50 3.8 1.6 2.7 45 0.004 13

WEA80-180 @ 11 1.5 90L 945 2.90 78.3 77.5 75.9 0.70 0.63 0.51 4.0 1.7 27 45 0.005 15

. . . . . . 15 2 100L 930 3.82 79.8 78.1 77.8 0.71 0.64 0.55 3.6 1.6 27 47 0.008 20

IM 2101 IM2111  IM2131 IM 2151 IM 2161 IM 2171 202 3 112M 950 539 81.8 81.7 80.4 0.72 0.70 0.60 4.9 2.0 2,3 46 0.013 24

:D ‘i! @: 3 4 132S 970 6.93 83.3 83.2 822 0.75 0.71 0.56 6.8 2.7 3.0 50 0.003 32

:[ED [D]: 4 55 132M1 970 8.86 84.6 84.1 83.6 0.77 0.70 0.58 7.1 2.8 3.0 50 0.04 42

WEA80-180 55 7.5 132M2 970 11.8 86.0 86.0 85.4 0.78 0.71 0.60 7.6 3.1 3.1 53 0.05 50

[0 I 75 10 160M 970 16.1 87.4 87.1 85.8 0.77 0.74 0.63 6.2 2.5 2.6 55 0.12 75

WEABD-180 :Iiﬂ 9.2 12.5 160L 970 19.5 88.5 88.2 86.1 0.77 0.74 0.62 6.2 29 2.7 57 0.15 90

11 15 160L 970 22.9 88.9 88.5 87.6 0.78 0.74 0.63 6.4 2.7 2.6 57 0.23 95

15 20 180L 980 29.7 89.9 90.0 88.5 0.81 0.74 0.62 7.6 2.8 5.3 57 0.34 130
IMB14 IMV18  IMV19 750 min”(8 poles) 50Hz

WEA80-180 M 3601 IM3611 1M 3631 0.37 0.5 90S 680 1.30 70.8 68.9 66.7 0.58 0.53 0.48 3.6 D3 2.9 46 0.0046 11

@ 0.55 0.75 90L 695 1.89 71.3 69.5 67.8 0.59 0.54 0.50 3.6 2.5 2.8 45  0.0052 14

075 1  100L1 700 242 73.3 721 71.7 0.61 0.57 0.53 4.3 2.6 2.6 47 0.0073 19 59

11 1.5 100L2 700 3.39 755 751 74.6 0.62 0.58 0.57 4.2 2.8 2.9 47 0.022 24

BATES HAE AT AR, 15 2 112M 700 4.24 77.3 77.0 75.3 0.66 0.62 0.58 3.7 2.0 2.4 49 0.028 33

sy i NS 22 3 1328 710 5.90 80.3 80.0 79.5 0.67 0.63 0.60 4.5 2.0 2.6 50 0.04 45

gg;ﬁfgﬁé;f&i%(;;;qf?’f[;f@éﬁm\ 3 4 132M 715 7.78 81.9 81.6 80.8 0.68 0.66 0.64 4.8 2.2 2.7 50 0.05 52

B0 Bl ¢ AL . 4 55 160M1 715 9.55 82.8 82.6 81.6 0.73 0.71 0.67 4.6 1.9 2.5 53 0.09 90

55 7.5 160M2 720 12.7 84.5 84.3 82.3 0.74 0.70 0.68 4.8 1.9 2.5 53 0.10 100

75 10 160L 720 17.0 86.0 86.1 85.2 0.74 0.71 0.67 5.4 23 2.7 50 0.11 115

9.2 12.5 180M 720 20.6 87.2 87.0 86.1 0.74 0.72 0.69 5.7 23 2.6 55 0.18 150

11 15  180L 725 24.5 87.7 87.5 86.8 0.74 0.72 0.70 5.9 2.3 2.7 55 0.22 170

EXEEHIE2RMER SR [EC60034-30 HFRAHX S X SR IEC60034-2-1, 2007

WONDER



ML R TE MOUNTING AND OVERALL DIMENSIONS ML R TE MOUNTING AND OVERALL DIMENSIONS

B3 KK
B14 i
T [& >
A-A I i
@ [rH \
F i T T
O] - alZ = = ‘M%.L 5 s <
Al
D ‘ ( T T
__F_\;Lrﬂ_m
R
E
L
B5 ! KK
A_A T | . A
T __1-_ AD ‘
E o DH P =" w |
|
. ,,4=J ~ @] B34
9 % piaps= P A-A _ S
D |<_>{E = T e E il
L[ [l ] r . DH - - . %
R I i : S Y
—{-R L G} % ol Z T 5 s < o _é By _ _
D i T ujtuC ® T
KK
B35 AA Ban - K 1l
- Elcl 8 | AL S
o _\ ™ 1 A
I — U AB
O] - oz A [TeYe— - <
' E
}——. = T T
D ’ -] A~
‘T II.C B
| o L

L% %% Rt o RS

Frame Mounting dimensions(mm) Overall dimensions(mm)

sze A A/2B CD DH E F G H K KK M N R T AB AC AD HD L

B mERY o R 80M  12562.5100 50 19 M6x1640 6 15.5 80 4-610M20x1.5100 80 120 0 4-M6 3 165 160 150 230 315

s Mounting dimensions(mm) Overall dimensions(mm) 90S 140 70 100 56 24 M8x2050 8 20 90 4-610M25x1.5115 95 140 0 4-M8 3 190 185 160 250 320
size AB AC AD HD L

A N R S KK MNP R 90L 140 70 125 56 24 M8x2050 8 20 90 4-610M25x1.5115 95 140 0 4-M8 3 190 185 160 250 335

80M  12562.510050 19 M6x16 40 6 15.5 80 4-¢10 M20x1.5165 130 200 0 4-¢12 3.5 165 160 150 230 315 100L 160 80 140 63 28 M10x2260 8 24 1004-412M25x1.5130 110 160 0 4-M8 3.5210 205 175 275 390

90S 140 70 1005624 M8x20 50 8 20 90 4-b10 M25x1.5165 130 200 0 4-612 3.5 190 185 160 250 320 150 160 ‘985 140 76 28 M10x0580 B 3d 113 de TaliEsxl.6 130 1901560 8 4-M8 8.5540 230 168 560 4

90L 140 70 1255624 M8x20 50 8 20 90 4-¢10 M25x1.5165 130 200 0 4-#12 3.5 190 185 160 250 335 132S 216 108140 89 38 M12x2880 10 33 132 4-412M32x1.5 165 130 200 0 4-M10 4 275 265 200 345 445

100L " 1bY eD 1306225 MIK2200 8 2d. 100 4= 2 Masu5215 100250 D st 18 210 209 W5 275 890 132M 216 108178 89 38 M12x2880 10 33 132 4-012M32x1.5165 130 200 0 4-M10 4 275 265 200 345 485
112M 190 95 1407028 M10x2260 8 24 112 4-612 M25x1.5215 180 250 0 4-015 4 240 230 185 300 400

275 265 200 345 445
275 265 200 345 485
315 315 245 405 615
315 315 245 405 660
350 355 265 445 690 25
350 355 265 445 730

1328 216 108 14089 38 M12x28 80 10 33 132 4-412 M32x1.5265 230 300 0 4-4 15
132M 216 108 17889 38 M12x28 80 10 33 132 4-$12 M32x1.5265 230 300 0 4-415
160M 254127 21010842 M16x3611012 37 160 4-$15 M40x1.5300 250 350 0 4-419
160L 254 127 25410842 M16x3611012 37 160 4-$15 M40x1.5300 250 350 0 4-419
24 180M  279139.824112148 M16x36110 14 42.5 180 4-$ 15 M40x1.5300 250 350 0 4-$19
180L 279139.827912148 M16x3611014 42.5 180 4-»15 M40x1.5300 250 350 0 4-419

a o o a > b b >




#==0 VIBRATION
FL AL R A

Motor
Type

80-132
132-180

600-3600
600-3600

FBENHLEC(4%ZR MOTOR SPARE PART LIST/DRAWING

26

14844

2. 257 1mes

3.B3ik=

4 EEELaERYZ (IP55)
SEEEE

6.2 58 IP55

7 EEELRRERY (IP55)
8B BIRE

9.2 430 IP55

10 3 Lkim Mot

11.8F

12 EE iR EEpIRL

13 AR ENERM

14 HRIBE

154055

165852

17 $hEas

18 407 ( WXz )
19%F

20407 (AFIRFNE )

218

22 R IR
23 AEIR Fhis i as
24X &

25. XM

26515

27 HEHE

th& BEARINGS

R HLJE 5
vilaEile Frame size
mm/s
0.71 80
1.12 90
100
112
132
160
180-2P
180-4-8P

At fe
Driving End

6204-2Z/C3
6205-2Z/C3
6306-2Z/C3
6306-2Z/C3
6208-2Z/C3
6209-2Z/C3
6211/C3

6311/C3

A il fi

Non-driving End

6203-2Z/C3

6204-27/C3

6205-2Z/C3

6205-2Z/C3

6206-2Z/C3

6209-2Z/C3

6211/C3

6211/C3

27




